| Efficiency vs Dxy |

0.1
» 0.09
>

80.08
I

5 0.07
0.06
0.05
0.04
0.03
0.02
0.01

dxy

..............................

eff

..............................

..........................................

...............................

1.

Ratio

=
!
-

0.95

S ET50-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

| Efficiency vs Dz |

—=— DQM_TT__CKF ORIG
—«— DQM_TT__CKFLOWPtT_ORIG
—+— DQM_TT__CKFLowPtT_MODIF

N 0.
o]

2 0,00 |4 1o
(3\ E [ ¥
.5 0.082_— ----- ............
(&) [ :
= 0.070H1 ERRE I Y EEERRREE
® ; 1 E||
0.06{ .............
i *
0.05[F
0.04fH-f1lf

0.03
0.02

002 o o AR

0||||;||
1 qr;

Ratio

0.9 HATH

0.8

B30 —20

2

J

20
TP dz (cm)

0




	Contents
	Page 1


